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Quiz 2.1.1-2.2.2 Practice Quiz and Review

Factor the following expressions in questions 1-4.
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5. The function f(x) = 2(2)* was replicated with
f(x) + k resulting in the function graphed
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What is the k value?

fk=2 (moved up 2)

6.

Identify ALL the transformations that have

occurred to the parent function below?

(Parent FuncEion is graphed as a dashed line)
- 14
) ; 7
i 6 !
] 4 [
) 5 Y
e '
; 4
| §
% 3 A
i [
[ 2 y 4
4
=
\_ |,/
5 4 ;v o’b‘ SEasea
RN

DENGE ety 2
verhnco\ &retn of 5




Write an equation for the graphs given in questions 7-12.
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Dy=GE o e =G
R\gnt 2 Down 2 Left2,Down 2
16y=244 17.y=1-4 18.y =~
up 4 down & Nt 4

19. Identify ALL the transformations that have
occurred to the parent function below?
(Parent Function is gaphed as a dashed line)
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20. Graph the locator point (h, k) of the function

f(x) = ¥x + 3 — 2 then draw in a sketch of
the shape of that graph.
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21, What is the name of the parent function whose | 22, Write an equation in the form y = (a) len + Kk
transformed graph is: y = Vx+2? that has a transformation of: Left 1, Up 4, and a
Vertical stretch of 3.
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23. Write an equation in the form y = (a)2*" + k | 24. Write an equation in the form y = a(x — h)? +
that has a transformation of: Right 10, Up7, k that has a transformation of: Left 2, Down 8,
and a Vertical compression of 0.13. and a reflection over the x — axis.
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25.The graph of y = 3% is shifted to the right 2 26. Write an equation in the form y = a(x — h)? +

and has a reflection over the x — axis. What k that has a transformation of: Left 7, Up 2,
will be the new equation? vertical stretch of 3, and a reflection over the
X = axis
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What are the domain and range of the following graphs?
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